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Vertical Division

Name:

Solve each problem.
1)

80681

4)

60300

7)

90(682

10)

80(640

2)

10816

5)

90(900

8)

40(662

11)

30[390

3)

70[560

6)

60(67

9)

30[600

12)

40240

Answers

10.

11

12.
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Vertical Division Name: Answer Key
Solve each problem. Answers
1 8r41 2) 81r6 3) 8 X sral
80[681 10816 70[560 |
0 0 0 , 8116
68 81 56
681 16 560 ) .
640 10 560
41 6 0 5 10
4) 5 5) 10 6) 1r7 A 117
60(300 90(900 6067 |
0 0 0 ;. Tr52
30 90 67
0 90 60 s 16722
300 00 7 . -0
300 0
0 0 10. 8
7) 7152 8) 16r22 9) 20 . 13
90(682 40(662 30[600 |
0 0 0 12. 6
68 66 60
0 40 60
682 262 00
630 240 0
52 22 0
10) 8 11) 13 12) 6
80640 30[390 40[240
0 0 0
64 39 24
0 30 0
640 90 240
640 90 240
0 0 0
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# Vertical Division Name:

Solve each problem. Answers
5 7 r52 20
8 16 r22 8 r4al 1.
10 1r7 81 r6
2,
1) 2) 3)

80(681 10/816 70[560 3

4) 5) 6)

60[300 90[900 60[67 0

7) 8) 9)

90(682 40(662 30[600

ifi 1-9 |89]|78]67[56]44[33[22[11] 0 |
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